B <)—Fh—LERHE @)

MRS (BAT M)

MR A K5y 9:0{%1;;00 13:;%0%;;00 18:;%"%;;“ OBRE &1, EEOREICET 55EE
AR £ L MBS IZHET DK El%f‘/‘b‘ifo )
Kb (1PED%) ¥ R 4, 950 6, 600 7, 480 OFEAB&DFRIL 3 K53 THEHR
- 1. B - %A 8,250 11,000 11,880 ‘w7,

R (17 )-) (B 6. 2704 8,369 101200 /miy (FAIOR~ES), F (P
T 10, 560 14, 080 15, 840 Fem A 5 ) T (S 6 R
- A 2, 310 3, 080 3,060 LF &Sk, Ll
" +-H-%H 3, 630 4, 840 5, 720 % 10EF) & 3RO AEERIEIC
BRAk— ¥ H 1, 650 2, 200 3, 080 RAaLTWET, =7FL. 1REFER
LR 2.970  5.900 L840 WMoMARMABHD L, 1HH
STTAYIT A e e 2. 970 3. 960 1. 840 (H% é’f”i%
N - ¥ A 11, 220 14, 960] 18, 480 OAEE 2 BN L Z2W54& & 1,000 M
+- B -%H 18, 150 24, 200 27, 720 RKEDOABEEZ2HBNT 2EA L
— ¥ _H 9, 900, 13,200 14,960 L 0 IIALOABRERNT S5
R— 2 2 > Dor NN
v (ABOH) e s 16, 500 22, 000 23,760 - 'fo.‘é’{ifﬂ?bslz%éfgzwi
Rl (1215 0-) S R 12, 540 16, 720 20, 240 T, WhRBEE CHEATIHBEIX.
- 7 T-H-®mA| 21,120 28, 160] 31, 680 ASE1,000 ML EDKSY & L 200%
_ ¥ R 3, 300 4, 400 6,160 g
BRAE—
1 -H-%H 5, 940 7, 920 9, 680 . N
=~ +- B -#H 5, 940 7, 920 9, 680 RN XS & TWET,
N . S A 22,4400 29,920 36, 960 O AKMH 2B 12 TOEAEE
+-R-%A 36, 300] 48, 400| 55, 440|  ‘F4% 10 BE~LFRi O BEE Clt. LS
ABHEZBINT HIEEXTFAHUE ey < -
Sl (1FED%) SN 14, 850 19, 800 22, 440 R~ 10 ﬁif@ﬁ#%ﬁ@iim t
A—)] +-[- %8 24, 750 33, 000 35, 640 BipEh, ZDFERESFED 130% D%E
_ o ¥ H 18, 810 25, 080 30, 360
AV (IREFY7)) = B -4kB 31, 680 42, 240 47, 520
L ¥ H 4, 950 6, 600 9, 240
B & - +-0-%A 8,910 11,880 14, 520
.= ¥ H 4, 950 6, 600 9, 240
STTAVINm A e e 8,910 11,880 14, 520
N - A 33, 660 44, 880 55, 440
+-H-%A 54, 450 72, 600 83, 160
TR RERANE (B 1)
| & 4 wpr | B | ORBBAOMARRI, | RIHA CRRNSBESNET,
mL | A - > 115 50 | OERRFEIC 1 REERBORENH D & X1X, 1RFBE AL
e & UV Y v N B|1#E 220 TEHELET,
YY) 7ARy b1 220 | Qv7 /HEALHEIIL. BT EHIZENTOEE A,
H AN —%—F 4 ~|1F 220
%ﬁ AR VavARy bIA M| 1 5 220
ToA—®VJ v EIA | 1A 110 AREREENES
B o AR v b1 50 1B B 72 Y OB ERREShTVET,
CD7V AL ¥ —|1%& 220 —
7 v FF v x|1E 220 (hr  H)
La—FZLr—%—|1%H 220 . miREHE AR
;iﬁ% ~ A4 7 v & ~v|1f@ 220 Mo 5y (1 Bz %)
IA¥Y VA=A 27|14 110 —
& B El 1= 1100 F— (1BEDH) 2, 750
HhiEY AE—D— | 18 220 AN (1EEXY 7)) 2, 750
20 5 7 J|1&]| 2,200 2 5 0 & 2, 750
e | 2 ¥k~ b 1 {4 110 T U T 550
E = X x A|1%&]| (18220 NTTAST
& f 3, 850




